Fractions, Decimals

/ CHAPTER 2 i and Approximations
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Evaluate the following, giving your answers in their simplest form:
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Evaluate:
(@) 265+ 1335 + 47.2 (b) 43.7 - 5.81
Evaluate:
(a) 314 x16x2 {(b)y 385 +11
Evaluate:
(a) 0.7 x0.6x03 (b) 27 +009
Evaluate:
@ 5x2+02-4=16 by 0.8 =009

() 58 +062x02
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(Given that A = 7 and & = -1, evaluate
(a) 3h + 4k, (by 2k, (¢) A3k - 10).

Given that g = =4, b= 3 and ¢ = 0, find the value of
(a) abc, (b) a-2b+ 3c,
(c) a - +c.

Evaluate the following by taking p = 4, g = % r=-3and s = —%.
@ S5p+(r—3 | (h) %{?p - 3q) + E

o7 + 4qfs d [l - l)
() Tpr + 447 S L el
(€) 3p'q — 6sr () pr+ ri(g + 8s - pg) - 6q]
Find the product of the following:
{a) 7w and 5x (b) 3w and —Ex {c) 6m and 7w
{(d) 9pg and —4;1’;-' {e) 15¢ and Y¢ {f) —4a and -23a

Find the quotient

(a) when 168a" is divided by 12a,

(b) when —49xy is divided by —14y,
(c) when 4dp 15 divided by —-66pg,

(d) when 52c(—d) is divided by 4b{=c),
() when =17rs is divided by 85p(-r),

(O when 24ab is divided by Sab’

Simplify:

(@) 10z + b - 15a + 3b (b) 2a + b) = 5(a + 2b)
1 V-4 2

© F@x+y-cx+ oy

Simplify 5x — 4[2x - (6y - 3x)].

Simplify:
@) 4(a + 3b) — 15b (b) :}[4.:: _ (6 — 5a)]

Simplify ~5a - La + 3(%:: _ ?].

Simplify:

2x -5 Ax-7 1 7] 6 3 1
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ALL questions may be attempted.
Answers are to be written on the question paper in the spaces provided.
Omission of essential workings will resull in loss of marks. No calculators are allowed.

This paper consists of 10 questions.

1. Ewaluate the following;

1 2 2 .
(@) (23 + 13] %2k e
(b) [6x[108 = (=17 + B)] — 36) + 12 2]
© 122-2"+7° [1]
Ans {a)
(b)
(c)

2. Giventhat-3 =p =4 and 2 = g =< 6, find -
(a) the least possible value of p - g, T
(b) the least possible value of pg. [11

Ans (a) :
(b}
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